112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

1 NS: #7% IR GEEI0) 2 5 NS: BRES) $5REE(BAC) 10 7.23 12.77| Total VP: 43.63 Rank:
EW: $8{—5¢ MEEEIC) -10 EW: E€#E 2% (BO) -2 IMP:| 9 : 16 6
I I
#1 s 197 4SXS-1-100 Mean: 2CW-3 150 7.0 1 [[#2 a4 3CW3 -110 Mean: 2NW-1 50 40 2
v QJT 4HE-2100 -140 5DW-2 100 6.0 1 v AK63 2NW-150 -80 2CW2 90 00 1
+ K3 Dif: -200 NS:1  4HE-2 100 6.0 1 + AT64 Dif: -160 NS:-1  1NW1 -90 00 1
» T8632 IMP: -5 EW:-6 3DW-1 50 50 1 » KT98 IMP: -4 EW:-4 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 6CS6 920 Mean: 6NN7 1020 50 1 [|#4 o T874 3HN3 140 Mean: 3HN4 170 2.0 2
v AQ 6CS7 940 840 6CS7 940 30 3 v AKT87 2SS2110 90  3HN3 140 20 3
+ AKQ2 Dif: -20 NS:2 6CS6 920 20 3 ¢ 43 Dif: 30 NS:2 2HN3 140 20 1
& 9643 IMP: -1 EW:-3 6CN6 920 20 1 & 82 IMP: 1 EW:-1 28S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 2NN-1 -100 Mean: 2HN2 110 70 1 #6 4 J86 3NW5 -660 Mean: 3NW4 630 1.0 1
v KQ 4HN-4 -400 -180  4DS-1 4100 20 1 v 52 3NW5 -660 -650 3NW5 660 0.0 6
¢ Q8 Dif: 300 NS:2 2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: 7 EW:6 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 -680 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW2 -110 Mean: 3NW-3 150 3.0 1
v J654 4SE7 -710 -680 5SE6 680 00 1 v 93 3NW-3 150 50 3HW-3 150 3.0 1
+ 8653 Dif: 30 NS:0 4SE6 680 0.0 4 o JT8765 Dif: -260 NS:-4 2NW-3 150 3.0 1
& AK3 IMP: 1 EW:1 5SE7 710 1.0 1 & AK4 IMP: -6 EW:-3 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

#1

NS: B&ST #REEFGHO) 10 7 NS: 21555 EEt 4 (BAC) -1 13.45 : 6.55 Total VP: 27.82 Rank:
EW: #5 FREEEAC) 1 EW: 255 BEE(BRO) -1 IMP:| 19 10 8
-
s 197 5DW-2 100 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HW3 -140 Mean: 2NW-1 50 40 2
v QJT 2CW-3150 -140 5DW-2 100 6.0 1 v AK63 1NW1-90 -80  2CW2 90 00 1
+ K3 Dif: -50 NS:6 4HE-2 100 6.0 1 + AT64 Dif: -50 NS:-2 1NWA1 -90 00 1
» T8632 IMP: -2 EW:-7 3DW-1 50 50 1 » KT98 IMP: -2 EW:0 3CW3 410 1.0 1
& AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
» KQ » A43 » QJ75
» Q86532 % ¢V AN 4 KTI73
v A5 N ~~~~~ v 94
.9 S ~~~~~ ¢ 9873
» AJ94 E ~~~~~ * 62
w ~~~~~
6CN6 920 Mean: 6NN7 1020 50 1 [|#4 o T874 4HN-1 -100 Mean: 3HN4 170 2.0 2
3NN7 520 840 6CS7 940 30 3 v AKT87 3HN3140 90  3HN3 140 20 3
Dif: 400 NS:2 6CS6 920 20 3 ¢ 43 Dif: -240 NS:-5 2HN3 140 20 1
IMP: 9 EW:8 6CN6 920 20 1 & 82 IMP: -6 EW:-2 2SS2 110 1.0 1
a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ T843 ¢ AJ76 3DE3 110 5.0 1
~ QJ » AKJ96
& K754 2HN2 110 Mean: 2HN2 110 70 1 #6 4 J86 3NW4 -630 Mean: 3NW4 630 1.0 1
v KQ 2NN-2 -200 -180  4DS-1 4100 20 1 v 52 3NW5 -660 -650 3NW5 660 0.0 6
+ Q8 Dif: 310 NS:7  2NN-1 4100 20 1 o+ AJ9764 Dif: 30 NS:1  3NE5 660 0.0 3
& AQ852 IMP: 7 EW:1 3SW3 140 1.0 1 » 98 IMP: 1 EW:0
& A962 4DS-2 200 1.0 1 ||a Q72 & AT9
w7 2NN-2 200 1.0 1 ||w A8 — v KJT74
+ A643 2HN-2 200 1.0 1 ||e KT3 + Q8
» KJ43 3NS-3 -300 -3.0 1 » KQ632 & AT7
aT 2CN-3 300 3.0 1 o VABN 4 K543
v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
¢ JT9752 S ~~~~~ ¢ 52
&7 E ~~~~~ & J54
w ~~~~~
» 82 4SE7 -710 Mean: 6SW-1 100 130 1 [|#8 s A9 2HW-2 100 Mean: 3NW-3 150 3.0 1
v J654 5SE7 -710 -680 5SE6 680 00 1 v 93 2HW-150 50 3HW-3 150 3.0 1
+ 8653 Dif: 0 NS:-1 4SE6 680 00 4 o JT8765 Dif: 50 NS:2 2NW-3 150 3.0 1
& AK3 IMP: 0 EW:1 5SE7 710 1.0 1 & AK4 IMP: 2 EW:0 2HW-2 100 20 2
~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
+ v3 6SE6 1430 -13.0 1 | |v AQJ865 v7 2HW2 110 40 2
*9 ¢+ AQ + K93
S » QJ5 » J87 » QT93
aT %o VAN 4, KT43
v KQ92 N ~~~~~ v KT42
¢ JT4 S ~~~~~ ¢ 42
& T8742 E ~~~~~ & 652
W ~~~~ ~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

3 NS: FENEAT 5 2 #GHO) 1 9 NS: 28A35 SEfERA(EAC) 7 8.73 : 11.27| Total VP: 41.30 Rank:
EW: —JH_E F;ﬁ—fﬂ([%ﬁc) 27 EW: 17K EHE(BRO) -1 IMP:| 19 22 7
-
#1 'y T97 3NE4 -430 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HW3 -140 Mean: 2NW-1 50 40 2
v QJT 3DW-150 -140 5DW-2 100 6.0 1 v AK63 2NW2 -120 -80  2CW2 90 00 1
+ K3 Dif: -480 NS:-7 4HE-2 100 6.0 1 + AT64 Dif: 20 NS:-2 1NWA1 -90 00 1
» T8632 IMP: -10 EW:-5 3DW-1 50 50 1 » KT98 IMP: -1 EW:1  3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ * AJ94 E ~~~~~ » 62
W ~~~~~ W ~~~~~
#3 » K96 6CS7 940 Mean: 6NN7 1020 50 1 [|#4 o T874 2HN2 110 Mean: 3HN4 170 2.0 2
v AQ 6NN7 1020 840 6CS7 940 30 3 v AKT87 3DE3-110 90  3HN3 140 20 3
+ AKQ2 Dif: -80 NS:3 6CS6 920 20 3 ¢ 43 Dif: 220 NS:1  2HN3 140 20 1
& 9643 IMP: -2 EW:-5 6CN6 920 20 1 & 82 IMP: 6 EW:5 28S2 110 1.0 1
a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ T843 ¢ AJ76 3DE3 110 5.0 1
~ QJ » AKJ96
#5 & K754 2CN-3 -300 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 -660 Mean: 3NW4 630 1.0 1
v KQ 3SW3 -140 -180  4DS-1 4100 20 1 v 52 3NW5 -660 -650 3NW5 660 0.0 6
¢ Q8 Dif: -160 NS:-3 2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: -4 EW:-1 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
s QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
S ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 6SW-1100 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW2 -110 Mean: 3NW-3 150 3.0 1
v J654 5SE6 -680 -680 5SE6 680 00 1 v 93 2HW-2 100 50 3HW-3 150 3.0 1
+ 8653 Dif: 780 NS:13 4SE6 680 0.0 4 o JT8765 Dif: -210 NS:-4 2NW-3 150 3.0 1
& AK3 IMP: 13 EW:0 5SE7 710 1.0 1 & AK4 IMP: -5 EW:-2 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

4 NS: P85 {52 Eh(HO) -13 8 NS: Sp#li4 22185 (BAC) -2 5.91 14.09| Total VP: 21.14 Rank:
EW: ;H;;Egﬁ yg%%([%ﬁc) 2 EW: &igT RERI(BAO) 13 IMP:| 3 14 9
-
#1 'y T97 3NE3 -400 Mean: 2CW-3 150 7.0 1 [[#2 a4 2CW2 -90 Mean: 2NW-1 50 40 2
v QJT 3NE3 -400 -140 5DW-2 100 6.0 1 v AK63 2HW3 -140 -80  2CW2 90 00 1
+ K3 Dif: 0 NS:-6 4HE-2 100 6.0 1 + AT64 Dif: 50 NS:0 1NWA1 -90 00 1
» T8632 IMP: 0 EW:6 3DW-1 50 50 1 » KT98 IMP: 2 EW:2 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 5CS6 420 Mean: 6NN7 1020 50 1 [|#4 o T874 3HN4 170 Mean: 3HN4 170 2.0 2
v AQ 6CS6 920 840  6CS7 940 30 3 v AKT87 3HN3140 90  3HN3 140 20 3
+ AKQ2 Dif: -500 NS:-9 6CS6 920 20 3 ¢ 43 Dif: 30 NS:2 2HN3 140 20 1
& 9643 IMP: -11 EW:-2 6CN6 920 20 1 & 82 IMP: 1 EW:-2 2S8S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 3NS-3-300 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 -660 Mean: 3NW4 630 1.0 1
v KQ 2HN-2 -200 -180  4DS-1 4100 20 1 v 52 3NW5 -660 -650 3NW5 660 0.0 6
¢ Q8 Dif: -100 NS:-3 2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: -3 EW:1 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 -680 Mean: 6SW-1 100 130 1 [|#38 s A9 3HW-3 150 Mean: 3NW-3 150 3.0 1
v J654 4SE6 -680 -680 5SE6 680 00 1 v 93 2NW-3 150 50 3HW-3 150 3.0 1
+ 8653 Dif: 0 NS:0 4SE6 680 0.0 4 o JT8765 Dif: 0 NS:3 2NW-3 150 3.0 1
& AK3 IMP: 0 EW:0 5SE7 710 1.0 1 & AK4 IMP: 0 EW:-3 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

5 NS: BRZEER) BIREEEAC) 10 1 NS: ¥i8 li3hih(F0) 2 12.77 : 7.23 Total VP: 47.16 Rank:
EW: BE&RE 222 BEH0) 2 EW: $E{_# MEFR(BAC) 1 IMP:| 16 9 3
I -
#1 s 197 4SXS-1 100 Mean: 2CW-3 150 7.0 1 [[#2 a4 3CW3 110 Mean: 2NW-1 50 40 2
v QJT 4HE-2 -100 -140 5DW-2 100 6.0 1 v AK63 2NW-1-50 -80  2CW2 90 00 1
+ K3 Dif: 200 NS:6 4HE-2 100 6.0 1 + AT64 Dif: 160 NS:4 1NWA1 -90 00 1
» T8632 IMP: 5 EW:-1  3DW-1 50 50 1 » KT98 IMP: 4 EW:1 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ * AJ94 E ~~~~~ » 62
W ~~~~~ W ~~~~~
#3 » K96 6CS6 -920 Mean: 6NN7 1020 50 1 [|#4 o T874 3HN3 -140 Mean: 3HN4 170 2.0 2
v AQ 6CS7 -940 840  6CS7 940 30 3 v AKT87 2SS2-110 90  3HN3 140 20 3
+ AKQ2 Dif: 20 NS:3 6CS6 920 20 3 ¢ 43 Dif: -30 NS:1  2HN3 140 20 1
& 9643 IMP: 1 EW:-2 6CN6 920 20 1 & 82 IMP: -1 EW:-2 2S8S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 2NN-1 100 Mean: 2HN2 110 70 1 #6 4 J86 3NW5 660 Mean: 3NW4 630 1.0 1
v KQ 4HN-4 400 -180 4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: -300 NS:-6 2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: -7 EW:-2 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 680 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW2 110 Mean: 3NW-3 150 3.0 1
v J654 4SE7 710 -680 5SE6 680 00 1 v 93 3NW-3 -150 50 3HW-3 150 3.0 1
+ 8653 Dif: -30 NS:-1 4SE6 680 0.0 4 o JT8765 Dif: 260 NS:3 2NW-3 150 3.0 1
& AK3 IMP: -1 EW:0 5SE7 710 1.0 1 & AK4 IMP: 6 EW:4 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

6 NS: FiEE M EGHO) 3 1 O NS: 81818 S (BAC) -9 | 14.39 : 5.61 Total VP: 54.09 Rank:
EW: #F5 #RraBEI0) 9 EW: E3Z5E 5REFH(BAO) -3| IMP:| 21 9 1
I -
#1 s 197 4SXS-1-100 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HE3 -140 Mean: 2NW-1 50 40 2
v QJT 3NE3 -400 -140 5DW-2 100 6.0 1 v AK63 2NW-150 -80 2CW2 90 00 1
+ K3 Dif: 300 NS:1  4HE-2 100 6.0 1 + AT64 Dif: -190 NS:-2 1NW1 -90 00 1
» T8632 IMP: 7 EW:6 3DW-1 50 50 1 » KT98 IMP: -5 EW:-4 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 6CS7 940 Mean: 6NN7 1020 50 1 [|#4 o T874 2HN3 140 Mean: 3HN4 170 2.0 2
v AQ 6CS6 920 840  6CS7 940 30 3 v AKT87 3HN4170 90  3HN3 140 20 3
+ AKQ2 Dif: 20 NS:3 6CS6 920 20 3 ¢ 43 Dif: -30 NS:2 2HN3 140 20 1
& 9643 IMP: 1 EW:-2 6CN6 920 20 1 & 82 IMP: -1 EW:-2 2S8S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 4DS-2 -200 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 -660 Mean: 3NW4 630 1.0 1
v KQ 4DS-1-100 -180  4DS-1 4100 20 1 v 52 3NW5 -660 -650 3NW5 660 0.0 6
¢ Q8 Dif: -100 NS:-1  2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: -3 EW:-2 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 -680 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW-1 50 Mean: 3NW-3 150 3.0 1
v J654 6SE6 -1430 -680 5SE6 680 00 1 v 93 2HW-150 50 3HW-3 150 3.0 1
+ 8653 Dif: 750 NS:0 4SE6 680 0.0 4 o JT8765 Dif: 0 NS:0 2NW-3 150 3.0 1
& AK3 IMP: 13 EW:13 5SE7 710 1.0 1 & AK4 IMP: 0 EW:0 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

#1

NS: ZA858 BEHEUEAC) -1 2 NS: BRE<F Mi&F(F0) 10 6.55 13.45| Total VP: 45.36 Rank:
EW: 27 SEEE5EE0) -10 EW: B ZIMZEBAC) 1 IMP:| 10 19 5
-
s 197 5DW-2 -100 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HW3 140 Mean: 2NW-1 50 40 2
v QJT 2CW-3 -150 -140  5DW-2 100 6.0 1 v AK63 1NW190 -80 2CwW2 90 00 1
+ K3 Dif: 50 NS:7 4HE-2 100 6.0 1 + AT64 Dif: 50 NS:0 1NWA1 -90 00 1
» T8632 IMP: 2 EW:-6 3DW-1 50 50 1 » KT98 IMP: 2 EW:2 3CW3 410 1.0 1
& AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
KQ » A43 » QJ75
» Q86532 % ¢V AN 4 KTI73
v A5 N ~~~~~ v 94
*9 S ~~~~~ ¢ 9873
& AJ94 E ~~~~~ & 62
w ~~~~~
» K96 6CN6 -920 Mean: 6NN7 1020 50 1 [|#4 o T874 4HN-1 100 Mean: 3HN4 170 2.0 2
v AQ 3NN7 -520 840  6CS7 940 30 3 v AKT87 3HN3 -140 90 3HN3 140 20 3
+ AKQ2 Dif: -400 NS:-8 6CS6 920 20 3 ¢ 43 Dif: 240 NS:2 2HN3 140 20 1
& 9643 IMP: -9 EW:-2 6CN6 920 20 1 & 82 IMP: 6 EW:5 28S2 110 1.0 1
a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ T843 ¢ AJ76 3DE3 110 5.0 1
~ QJ » AKJ96
& K754 2HN2 -110 Mean: 2HN2 110 70 1 #6 4 J86 3NW4 630 Mean: 3NW4 630 1.0 1
v KQ 2NN-2 200 -180  4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: -310 NS:-1  2NN-1 4100 20 1 ¢ AJ9764 Dif: -30 NS:0 3NE5 660 0.0 3
& AQ852 IMP: -7 EW:-7 3SW3 140 1.0 1 » 98 IMP: -1 EW:-1
& A962 4DS-2 200 1.0 1 ||a Q72 & AT9
w7 2NN-2 200 1.0 1 ||w A8 — v KJT74
+ A643 2HN-2 200 1.0 1 ||e KT3 + Q8
» KJ43 3NS-3 -300 -3.0 1 » KQ632 & AT7
aT 2CN-3 300 3.0 1 o VABN 4 K543
v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
¢ JT9752 S ~~~~~ ¢ 52
&7 E ~~~~~ & J54
w ~~~~~
» 82 4SE7 710 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW-2 -100 Mean: 3NW-3 150 3.0 1
v J654 5SE7 710 -680  5SE6 680 00 1 v 93 2HW-1-50 50 3HW-3 150 3.0 1
+ 8653 Dif: 0 NS:-1 4SE6 680 0.0 4 o JT8765 Dif: -50 NS:0 2NW-3 150 3.0 1
& AK3 IMP: 0 EW:1 5SE7 710 1.0 1 & AK4 IMP: -2 EW:-2 2HW-2 100 20 2
~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
+ v3 6SE6 1430 -13.0 1 | |v AQJ865 v7 2HW2 110 40 2
*9 ¢+ AQ + K93
S » QJ5 » J87 » QT93
aT %o VAN 4, KT43
v KQ92 N ~~~~~ v KT42
¢ JT4 S ~~~~~ ¢ 42
& T8742 E ~~~~~ & 652
W ~~~~ ~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

8 NS: sS4t Z21§HEEHC) -2 4 NS: #53H AR EN(BIO) -13 14.09 : 5.91 Total VP: 47.12 Rank:
EW: #iE T SEBEEH0) 13 EW: iti#E# #imsR(BAC) 2 IMP:} 14 : 3 4
I — I
#1 s 197 3NE3 400 Mean: 2CW-3 150 7.0 1 [[#2 a4 2CW2 90 Mean: 2NW-1 50 40 2
v QJT 3NE3 400 -140 5DW-2 100 6.0 1 v AK63 2HW3 140 -80 2CW2 90 00 1
+ K3 Dif: 0 NS:-6 4HE-2 100 6.0 1 + AT64 Dif: -50 NS:-2 1NWA1 -90 00 1
» T8632 IMP: 0 EW:6 3DW-1 50 50 1 » KT98 IMP: -2 EW:0 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 5CS6 -420 Mean: 6NN7 1020 50 1 [|#4 o T874 3HN4 -170 Mean: 3HN4 170 2.0 2
v AQ 6CS6 -920 840  6CS7 940 30 3 v AKT87 3HN3 -140 90  3HN3 140 20 3
+ AKQ2 Dif: 500 NS:2 6CS6 920 20 3 ¢ 43 Dif: -30 NS:2 2HN3 140 20 1
& 9643 IMP: 11 EW:9 6CN6 920 20 1 & 82 IMP: -1 EW:-2 2S8S2 110 1.0 1
a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ T843 ¢ AJ76 3DE3 110 5.0 1
~ QJ » AKJ96
#5 & K754 3NS-3 300 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 660 Mean: 3NW4 630 1.0 1
v KQ 2HN-2 200 -180 4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: 100 NS:-1  2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: 3 EW:3 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 680 Mean: 6SW-1 100 130 1 [|#38 s A9 3HW-3 -150 Mean: 3NW-3 150 3.0 1
v J654 4SE6 680 -680 5SE6 680 00 1 v 93 2NW-3 -150 50 3HW-3 150 3.0 1
+ 8653 Dif: 0 NS:0 4SE6 680 0.0 4 o JT8765 Dif: 0 NS:3 2NW-3 150 3.0 1
& AK3 IMP: 0 EW:0 5SE7 710 1.0 1 & AK4 IMP: 0 EW:-3 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

9 NS: ZHHIE 5REEEEAC) 7 3 NS: #lEf 52/~ (FH0) 1 11.27 . 8.73 Total VP: 54.01 Rank:
EW: EEJjJ,m EREEO) -1 EW: #F{_E BRFR(BAC) -7 IMP:| 22 19 2
— -
#1 'y T97 3NE4 430 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HW3 140 Mean: 2NW-1 50 40 2
v QJT 3DW-1-50 -140 5DW-2 100 6.0 1 v AK63 2NW2 120 -80 2CW2 90 00 1
+ K3 Dif: 480 NS:5 4HE-2 100 6.0 1 + AT64 Dif: 20 NS:-1  1NWA1 -90 00 1
» T8632 IMP: 10 EW:7 3DW-1 50 50 1 » KT98 IMP: 1 EW:2 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 6CS7 -940 Mean: 6NN7 1020 50 1 [|#4 o T874 2HN2 -110 Mean: 3HN4 170 2.0 2
v AQ 6NN7 -1020 840 6CS7 940 30 3 v AKT87 3DE3110 90  3HN3 140 20 3
+ AKQ2 Dif: 80 NS:5 6CS6 920 20 3 ¢ 43 Dif: -220 NS:-5 2HN3 140 20 1
& 9643 IMP: 2 EW:-3 6CN6 920 20 1 & 82 IMP: -6 EW:-1 2S8S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 2CN-3 300 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 660 Mean: 3NW4 630 1.0 1
v KQ 3SW3 140 -180  4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: 160 NS:1  2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: 4 EW:3 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 6SW-1-100 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW2 110 Mean: 3NW-3 150 3.0 1
v J654 5SE6 680 -680 5SE6 680 00 1 v 93 2HW-2 -100 50 3HW-3 150 3.0 1
+ 8653 Dif: -780 NS:0 4SE6 680 0.0 4 o JT8765 Dif: 210 NS:2 2NW-3 150 3.0 1
& AK3 IMP: -13 EW:-13 5SE7 710 1.0 1 & AK4 IMP: 5 EW:4 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

1 O NS: $1E 38 =UEEHC) -9 6 NS: ZpiEiE #inE2(FH0) 3 5.61 14.39| Total VP: 18.37 Rank:
EW: E58 sREREBHO) -3 EW: ¥ 518 &M (BAC) 9 IMP:| 9 21 10
I —
#1 s 197 4SXS-1100 Mean: 2CW-3 150 7.0 1 [[#2 a4 2HE3 140 Mean: 2NW-1 50 40 2
v QJT 3NE3 400 -140 5DW-2 100 6.0 1 v AK63 2NW-1-50 -80  2CW2 90 00 1
+ K3 Dif: -300 NS:-6 4HE-2 100 6.0 1 + AT64 Dif: 190 NS:4 1NWA1 -90 00 1
» T8632 IMP: -7 EW:-1  3DW-1 50 50 1 » KT98 IMP: 5 EW:2 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N ~~~~~ v A5 N ~~~~~ v 94
S ~~~~~ *9 S ~~~~~ + 9873
E ~~~~~ &» AJ94 E ~~~~~ & 62
W ~~~~~ W ~~~~~
#3 » K96 6CS7 -940 Mean: 6NN7 1020 50 1 [|#4 o T874 2HN3 -140 Mean: 3HN4 170 2.0 2
v AQ 6CS6 -920 840  6CS7 940 30 3 v AKT87 3HN4 -170 90  3HN3 140 20 3
+ AKQ2 Dif: -20 NS:2 6CS6 920 20 3 ¢ 43 Dif: 30 NS:2 2HN3 140 20 1
& 9643 IMP: -1 EW:-3 6CN6 920 20 1 & 82 IMP: 1 EW:-2 2S8S2 110 1.0 1
» QJ83 a 42 3NN7 520 -80 1 ~ Q95 2HN2 110 1.0 1
v KJ752 v 98643 5CS6 420 90 1 v4 4HN-1 4100 -5.0 1
¢ J9 ¢ T843 ¢ AJ76 3DE3 110 5.0 1
82 ~ QJ » AKJ96
#5 & K754 4DS-2 200 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 660 Mean: 3NW4 630 1.0 1
v KQ 4DS-1100 -180  4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: 100 NS:2 2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: 3 EW:1 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~~~~~ v A9863 4HN-4 400 60 1[N ~~~~~ v Q963
§ ~~~~~ ¢ JT9752 S ~~~~~ ¢ 52
E ~~~~~ a7 E ~~~~~ » J54
W ~~~~~ W ~~~~~
#7 » 82 4SE6 680 Mean: 6SW-1 100 130 1 [|#38 s A9 2HW-1 -50 Mean: 3NW-3 150 3.0 1
v J654 6SE6 1430 -680 5SE6 680 00 1 v 93 2HW-1-50 50 3HW-3 150 3.0 1
+ 8653 Dif: -750 NS:-13 4SE6 680 0.0 4 o JT8765 Dif: 0 NS:0 2NW-3 150 3.0 1
& AK3 IMP: -13 EW:0 5SE7 710 1.0 1 & AK4 IMP: 0 EW:0 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~~~~~ v KT42
S ~~~~~ ¢ JT4 S ~~~~~ * 42
E ~~~~~ & T8742 E ~~~~~ & 652
W ~~~~~ W ~~~~~




